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MISSION SELECTION - SSC 2024
Q.1 Which of the following interchanges in

signs and numbers will make the given
equation correct?

fereet TR wEarsti W HHATIRad W o i 9T
gftaa fu o awtetor st @& FaT S
8§x9+2="74

A.xand=,2 and 9
B.x and +, 8 and 2
C.+and x,8and 9
D. + and =, 74 and 2




MISSION SELECTION - SSC 2024
Q.2 Five students P, Q, R, S and T are sitting on a
bench. Q is to the left of P and right of T. S is at the
extreme right end and R is to the immediate left of S.
Who is sitting third from the left?
T B P, Q, R, S 3R T Ueh Sl WS 2l Q, P oh T2 3R
TIHRTHIE N STATA IV BR W 2 IR, S % Steh
TS 3T 2| FT8 3T | o 16 TATT U R 3T 82

A.P
B.Q
C.R
D. T




MISSION SELECTION - SSC 2024
Q.3 AnKkit scored 32, 45 and 49 marks in Physics,

English and Philosophy respectively. The maximum
marks in each subject is 50. Determine his overall

percentage for the three subjects.

3ifeRd ¥ WiTdrehT, TS T SIITE H THHAIT: 32, 45
3R 49 37k UTH foRrl T foro=r 7 s1freraw 37k 50
2 i forwrt 3 foru swent et wfvrora frartfia =&

A. S8
B. 50
C. 42
D. 84




MISSION SELECTION - SSC 2024

Q.4 B is older than C but not as old as D.
E is not as old as B. Who is the oldest of
all?

B, C 9 92T 2 oifeh D Rraar st 78 1 E,
B faar o2t 8 81 aeft & wad IS R 27




MISSION SELECTION - SSC 2024
Q.5 Five planes, A, B, P, Q and R were saluting on

Independence Day in such a way that R was second to the left
of Q but to the immediate right of A. There was one plane
between B and P. B was not at any of the ends. P and Q were
neighbours. Who was at the left end?

gier famm, A, B, P, Q 3R R &0dT {Ga® W 36 ThR TATHT
T o Teh R, Q o S5 3T Y TATH WX AT AAfehd A oh teh 1T AN
9Tl B 37X P ok &I Uek faATH o1l B AE1 o7 fehdt «ff SR W, P 3R
Q USTHT | ST6 SR U hie oT? | Al A

" B.B
C.R

D.Q




MISSION SELECTION — SSC 2024
Q.6 In a company all Mondays and Sundays

are offs. If a month starts with a Monday and
has 31 days then how many offs will be there in
that month?

T HUAT § A AR SR AR st 92 @l
21 AT g TEHT AHTR § ITE FaT 8 SR 3a% 31
o & a1 39 Wi ¥ et pigat g

A.7
B. 8
(O
| )




MISSION SELECTION - SSC 2024

Q.7 If day before yesterday was Sunday, then
which day of the week will the sixth day from
today be?

Ite oAt WAAR 9T, a1 A BT & THIE &7
i A fa grm?

A. Wednesday
B. Tuesday

C. Monday

D. Thursday



MISSION SELECTION - SSC 2024

Q.8 Rajan and Manu went to a market. Rajan
bought 3 erasers and 5 pens for Rs 105 and
Manu bought 4 erasers and 6 pens for Rs 130.
What is the price of one eraser?

TS R T ATSR Y TS T 105 TGS H 3 TER
3R 5 U Tig SR AT 7 130 TUA H 4 TR 3R 6
U7 @1 Tk 34T <hl ShIAd T 22

A. Rs 25
B. Rs 20
C.Rs 10
D.Rs 19




MISSION SELECTION - SSC 2024

Q.9 Ravi had five subjects in his final examination. The
maximum marks in each subject are 100. If his percentage
in four subjects is 80, and he scores 65 marks in the fifth
subject, determine his overall percentage for the five

subjects.

Tty <ht 3w udrerT W Ui foe=r o v forw=r o srfereaw
3feR 100 g Tfe TR fore= # 3@ent ufdora 80 2, 3R uted
e 9 389 65 3tk uTH foRu B, 9 wier forw=t o foru s@ent

THT TTa9Ta FHaifia i A 78

B.79
C.77
D. 76




MISSION SELECTION - SSC 2024
Q.10 Amit's age is four times the age of Babli.

Babli's age is three times the age of Priya. If the
present age of Priya is S years, what is the present

age (in years) of Amit?

AT T IH T T 3T F AR AT 8| TTAT hl 3T
foram & 3 & i AT 2) i o s adw Ay S
Y 7, AT AT Y AU ST (T H) FIT>?

A. 65
B. 45
C.55
D. 60




MISSION SELECTION - SSC 2024

Q.11 The average temperature of a town in the
first six days of a month was 410C and the sum of
the temperatures of the first five days of the same
month was 2010C. What was the temperature on
the sixth day of the month?

T Wl & U8t B8 fort § Uk 98T T fiea
ATIHTT 410C T 3R I 7R o Uger aiet foi 6
ATYHT T ART 2010C AT| WEA & T o araw=
T AT? A. 400C

B. 450C

C. 460C

D. 500C




MISSION SELECTION - SSC 2024
Q.12 There are five students - P, Q, R, S and T having

different heights in a class. P's height is more than only
one student. Q's height is more than S and P but not more
than R. S's height is more than P. R is not the smallest.
Who is having the maximum height in the class?
T FATH A BT - P, Q, R, S 3R T & ™kt F=r8 31er-
T 3| P T 7T et Ueh foremeff & a1feres 1 Q <6l
SaTg S TR P ¥ 37ferek § AAfoh R ¥ 31feres &1 81 S Y
ST P ¥ S1fUek Bl R OaW BIST T2 21 THell § Aferehan
e fraehr 32 A.Q
| S B.R
C.S
D.T




MISSION SELECTION - SSC 2024

Q.13 There are 45 trees in a row. The lemon tree
is 20th from right end. What is the rank of lemon
tree from left end?

T Ufxh W 45 U ¥ {19 o1 U 310 BR & 209 €U
W 1 ATE BR A e U T TAT FT 82




MISSION SELECTION - SSC 2024
Q.14 In a row of books a book of English is 16th from left
end of row. A book of Mathematics is 12th from the right
end. If the Mathematics book is 6th to the right of the

English book, then how many total books are in the row?

UEAehi Shi Teh UTRR § ST <Rl Uk geaeh Ufvh & I SR |
163 AT U 2| 0T Y Uk fohaTar 210 R & 12 31 af2
TTfoTa Y foRrdTar il <t fohdTa & 218 TR B TAT W R,
Utk § wor forat foraTer 32
3 A. 33
B. 32
C.34

D. 31




MISSION SELECTION - SSC 2024
Q.15 In a certain code language, “FAMOUS” is written

as “AFOMSU”, and “FINGER?” is written as “IFGNRE”.
How will “INVEST” be written in that language?

T (Afea e 9T H, "FAMOUS" &t "AFOMSU" 3R
"FINGER" &1 "IFGNRE" & &9 ¥ ot Smar §1 361 %e
AT H “INVEST?” ¥ fer@t smo? (

(A) NIVETS
(B) NEIVTS
(C) NIEVST
(D) NIEVTS



MISSION SELECTION - SSC 2024
Q.16 Statements:/she:

Some butters are honeys./sh® 9, LN
Some honeys are breads./%® &, IS B

All breads are jams./aY S, I B
Conclusions:/f-eery:

I. Some jams are honeys./I. Wﬁﬂ, LS 1R
I1. All honeys are butters./IT. T &1, T B

III. Some jams are butters./Ill. Wﬁﬂ, T B
a) Only conclusions I and II follow/ehareT TSR I 3T TSk 11 FTEI0T A g

b) Only conclusion 11 follows/ShaeT TSRt 11 TE0T EIF{FIT%
¢) Only conclusions I and ITI follow/shaeT THSehY [ 3T Fsenw 111 FTEI0T AT
d) Only conclusion I follows/hdeT TSR 1 STHHEIOT FETE




MISSION SELECTION - SSC 2024
Q.17 There are five girls - R, S, T, P and Q sitting in a row facing

north. T is sitting exactly in the middle of the row. Q is sitting to the
immediate right and immediate left of P and T respectively. S is not
sitting at the extreme end. Who is sitting third to the left of R?

qTe EfeRdl - R, S, T, P TUT Q I <hl 3R W Y o Teh Ulh H A3t
T3 ¢l T ufer o wed § 3t 33 81 Q Shu9T: P o U@ STt AT T & T
ameft &t 78 31 S URn ¥ sifem B T T A §1 R 3 areh o e
TAT W h 1 A3 T3 232 | (A) P

(B) Q
(C) S
(D) T




MISSION SELECTION - SSC 2024
Q.18 If 21st June 2007 was a

Thursday, then what was the day of
the week on 21st June 2011 ?

Afg 21 S 2007 T TEIR oT, A 21 7
2011 ST THTE T i AT &7 AqT?

(A) Wednesday
(B) Monday
(C) Sunday

(D) Tuesday



MISSION SELECTION - SSC 2024
Q.19 In a certain code language, 'ADVISORY' is

written as 'BFYMRMOU', and 'CHAMPION' is written
as 'DJDQOGLJ'. How will 'DESIGNER' be written in
that language?

T (A3 e AT |, 'ADVISORY' &t 'BFYMRMOU'
3R 'CHAMPION' & 'DJDQOGLJ' &% &U # ferat Srar
1 I e ATETH 'DESIGNER' &t ¥ feram sem?

(A) EGVNFLCN
(B) EGUMFMCN
(C) EGVMFLBN
(D) GVNFLBN




MISSION SELECTION — SSC 2024
Q.20 Select the option that is related to the fifth

number in the same way as the second number is
related to the first number and the fourth number is

related to the third number.

39 foreRea &1 oa= hifSu S gt ST | 3E 9RR

TEAT ATE AT ¥ He e 2
24:-192::-31:248::-18 : 2 (A) -152
(B) -146
(C) 148

(D) 144



MISSION SELECTION - SSC 2024

Q.21 How many leap years in 500 years?
500 AT | feha oo g g

(A) 121
(B) 122
(C) 120
(D) 123



MISSION SELECTION - SSC 2024

Q.22 Karan remembers that his sister’s birthday is
not after 18™ August. Karan’s mother remembers
that Karan’s sister birthday is before 20™ august but
after 17™ august. On which date august is Karan’s

sister birthday?

HIUT Rl TS ¢ Toh SThHT A&7 T T-HIST 18 3TTET o 1S
T2 1 THITT hl AT k! ATE ¢ TR HI0T T T8 /T A S

20 3TTET T UZA Ti{eh 17 STTET o TS 21 HIUT hi T8
HT A TR ag T g

(A)19
(B)17
(C)18
(D)20




MISSION SELECTION - SSC 2024

Q.23 How many times 29 dates will come

in 100 years?

100 I H 29 ARG feRa=t IR SATTT?

« _. E==1 . .: -
=\e) e
> . ¢

(A) 24
(B) 1124
(C) 1100
(D) 1200




MISSION SELECTION - SSC 2024

Q.24 How many triangles are there in the given figure ?

<t 7TE erreRfer ® fohae Bt ¥2

. ll‘ 4) 60

(B) 64
(C) 61
(D) 63




MISSION SELECTION - SSC 2024

Q.25 Find the missing number ?

TH GEIT 8?2 \//H\/
\3 Q ¢ (‘/ _l l-l\\
N\ l_)
/;/\‘? R 2, / sl

AS
B.7
C.8
D .12






